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2) Thegym is 21 §'e"a‘rs newer,than the additorium.

The gym i§ also one fourth as old as the‘auditorium,
Fow old is each building?

let naggo“" andtosium 28 o¢s |
w7 750 (T

(%=21= £x)v

Hye-|/Y = X

Yy-fx -84 = K=Hx
-89 =3
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4) ,One number is four times Qnothef‘numbeg. The larger
number is also 87 more than the smaller number. Find
- the numbers.

letx = [T num
Ug= Z“‘num

U = X +&7
Yg-% = x-%+87

AIx=87

#3218 ¥
5) A M’Slfﬁl@ﬂmmm a dar. The car went one

] third as far as the bus. How far did each vehicle travel?

lek x=cac’s dictance
x+3I8= bus’ distance

EX@"&

3x= 1(x+ ’SIR)
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6) A clown weighs 60 Ibs more than a trapeze artist. The trapeze

artist weighs two thirds as much as the clown. How much does
- each weigh?

i (et k= tcapeze aclishé ueald-
x+60 = clown's ..ni:H‘

Tx-z0e)]

AKX = 2@60)
3% = 2%+ 120

7) The U.S. Senate has 100 members, all Democrats or Republicans.

Recently there were 12 more Democrats than Republicans. How
; many Senators from each political party were there at that time?

|4 x = ¢ publicansaq
XY\ = Mvocrnts S
o

x| 2= |

2%+ 1172100~
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8) The ninth grade class has 17 more girls than boys. There are
- 431 students in all. How many boys and girls are there?

= LR ]
-1 wy
D=y

9) Elena has one and a half times as much money as Ramon.
= Together they have $255. How much money does each have?
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10) Western State College is 18 years older than Southern State.
= Wastern 1=s also 21/, times as old as Sou}‘hem. How old 1s each?

| Let x= age of Seaflecn ke 12 5"57
xtl8= age o Weskern Fate |2 43

X#18 = 25x
A% +|B = 2.5%-%

18 =15
IS 1S

(Z.x
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in opposite directions.
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13) A rectangle is 12 m longer than it is wide. Its perimeter is 68 m.
- Find its length and width.

14) The length of a rectangle is 3!/, times its width. Its perimeter
- 1s 108 cm. Find its length and width.

3Ax= lenqth W ¥ 4’
Y A Xt 33t 30xA0B 35%
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